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clc
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% rasm nemodar
clc
a=—4:0.04:+4
b=2*%sin(3*pi*a)
c=plot(a,b)

3x +4y + 2z = 2z — 5x
x+y—8=3x—x
8=2z+3y

8x+4y+0z=0
—x+y+0z=38
Ox+3y+2z=8

¥ se moadeleh se majhool
clc
2=[8,4,0;-1,1,0;0,3,2]
b=[0;8:81

c=inv{a)*b

—1-2j —4 1-3j
5 6j 7

¥ matrix
clc
a=[-1-23,-4,1-33;5,63,7]

Al s,

o ;1800 5 50 gl sy,

Qs oy die b)) A b ) Alsles olliws (Ja
el5 59,

o ,l8le 5 50 gl sy,

M,J.gl)u}lw&w))hwg.\w/dboﬂ e 9L
el 59,

o ,l8le 5 50 gl sy,

-8

Sy piy SEU 590 wlsa b 28ls3 ax 8L 0l & lie Slsa X = (3:5:24) pauysn 51 -9

3 8 13 18 23



